Ratio to ATLAS

1.4

1.2

0.8

0.6

0.4

0.2

[EEY

0.5

7000 GeV pp

Undgrlyipg Event

L L A N
Z(pT) vsAQ (n] < 2.5, p.>05GeV,p >2 GeV)

m ATLAS
---0-- Pythia 6.428 345
—4A— Pythia 6.428 370
Pythia 6.428 ambtl
—— Pythia 6.428 z2

Rivet 3.1.10, = 2M events

EEEEE—

T T e e e e T |

mcplots.cern.ch [arXiv:1306.3436]

||||||||||_“_}||||||||||||||

N

AT A
y"VA'A'A'AAAAAAAAAAA‘AAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
L (ZXVIAVALY VALV VALYV VALVALYSLYA VYAV VALYV VAV VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAYAVAY VAV LYY

DN ENL S '-_;.L_lt_!.:!M!_!z}.:n‘!_!..-—.:'.."..‘n.au-niuynnﬂmv.'n!nvavgva?gm-Q- INZ

0.5

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


